
THE PROPER WAY TO SHOW WORK WHEN FINDING CERTAIN LIMITS

When you are doing scratch work, you can use whatever shorthand you want as long as you understand it.
However, when you are writing up a solution which requires you to show work, you must write in proper mathematical notation.
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LIMIT EQUAL TO INFINITY (OR NEGATIVE INFINITY)
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THE LIMITS FOR THE NUMERATOR AND DENOMINATOR ARE PLACED TO RESEMBLE A FRACTION
(NUMERATOR ABOVE, DENOMINATOR BELOW) MAKING IT EASIER TO READ.
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THE PROPER WAY TO SHOW WORK WHEN FINDING CERTAIN LIMITS

When you are doing scratch work, you can use whatever shorthand you want as long as you understand it.


However, when you are writing up a solution which requires you to show work, you must write in proper mathematical notation.
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WHY IT’S WRONG:
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LIMIT EQUAL TO INFINITY (OR NEGATIVE INFINITY)
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WHY IT’S WRONG:
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THE LIMITS FOR THE NUMERATOR AND DENOMINATOR ARE PLACED TO RESEMBLE A FRACTION

(NUMERATOR ABOVE, DENOMINATOR BELOW) MAKING IT EASIER TO READ.
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Find 

[image: image16.wmf]x


x


x


-


-


¥


®


3


4


2


lim


.



WRONG:




[image: image17.wmf]1


3


1


3


4


2


lim


-


=


¥


-


¥


=


¥


-


-


¥


=


-


-


¥


®


x


x


x





WHY IT’S WRONG:
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Anway, the limit itself is wrong.
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scratch work: 

[image: image23.wmf]¥


-


¥


®


¥


-


-


¥


3


1


 indeterminate

_1324912065.unknown



_1324912474.unknown



_1324913464.unknown



_1324913795.unknown



_1324913868.unknown



_1324913981.unknown



_1324913841.unknown



_1324913791.unknown



_1324913013.unknown



_1324913446.unknown



_1324912481.unknown



_1324912363.unknown



_1324912411.unknown



_1324912437.unknown



_1324912381.unknown



_1324912183.unknown



_1324911460.unknown



_1324911495.unknown



_1324911880.unknown



_1324911472.unknown



_1324911309.unknown



_1324911322.unknown



_1324910957.unknown



